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2 HLUEX/ A HISXH)

SN - G(EH) - NRAY - BES 0 & o[-
OL2tEH Sgads A48 N 14,400 16,000
202 Ot 1,500 2,160
01 =WO4 bl 1,500 2,160
OsAIIY & EE 01E K& 1,500 2,160
SA0|1 JI=sig K& 15,086 15,650
S23Y 243 N 15,086 15,650
202 04d| 86 650
01 =WOdbI 86 650
OZE=YX FAUs =X 86 650
Atgdolsd b L ALRSHEE(ALEISXI/ = S) 1,188,002 1,130,031
= 26,087 0
& 1,161,915 1,130,031
HEALZ3 EEXIA 679,482 621,511
= 26,087 0
= 653,395 621,511
224 HAUES Y XJAFH FA 517,347 496,911
308 AXIHMSO0I& 265,670 245,234
01 AXIEHBAEES 265,670 245,234
OLsHgHEAY XA 265,670 245,234
N ARIE AMEE X2 AFRI(2D) 37,53 0
= 26,087 0
= 11,448 0
307 QI2tol M 37,535 0
= 26,087 0
= 11,448 0
02 QIZHAAAHE R 37,535 0
OXGAIRIE AdEgSE XA 37,535 0
= 26,087 0
& 11,448 0
23 LR N L3 (LS SHE/UBHE) 63,198 66,022
HERE =2 2l 63,198 66,022
HES2 APHMBAH XAHE 22 9,316 12,140
201 et | 9,316 12,140
01 At 2telt] 9,316 12,140
QoM - BAAL K} SR A EY 8,436 9,940
ORIEHEII AAl K& 880 2,200
SHY2AZHI(OIG X)) (DIEHIIEL 40,942 44,942
Jl=dhl 40,942 44,942
A2 |22l 40,942 44,942
201 Lt | 28,202 32,202
01 At 22|l 28,202 32,202
OFA2F AtR2teld] 22,130 26,130
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